BLUE PRINT SUPPLY 1M 7-78 68187e

CFN? — 450

FON — &/3

CotrEEcror — 54-/0

FronT View

SYM.

REVISION

DATE

!DR.

BILL OF MATERTAL
D. -PART NOS. -  DESCRIPTION
188-0014 Collar
188-1064A Collar
188-090A Trensition - 10 ¥ 1056
188-11LA Transition - 12 x 12 x 6
188-15LA Top - Front Section With Hole
188-110A Top - Back Section
188-131A Deflector
1.88=1554A- Side Top Section
188-118A Inspection Door
188-1334 Side of Clipper Air Cleaner
188-112A Rain Hood Top
188-156A Middle of Clipper Air Cleaner
/ 188-157A  Deflector
188-1194A Deflector Gate Assembly
188-158A Back of Clipper Air Cleaner
188-115A Back - Bottom Section
188-1594A Front = Middle Section
188-1604 Front - Bottom Section
188-161A Side - Bottom Section
188-122A Adjustable Valve Assembly
188-162A Side - Front Section
188-163A Bottom ~ Front Section
- ; -124A Val - 5h- L
INSPECT/ION LENMOVEZEBL F SEELE DETHEIL }ng_[lﬂ a4 Bea;gnzhgilajh 1/k Long
e 5 188-082A Weight Rod Assembly
/ )OC) 7 11-020A Deflector Valve Collar
o BHANS/ 7 /o 188-126A Valve Shaft - 51-3/4 Long
208-002-1A Counterweight - 1"
208-002-2A  Counterweight - 5/8"
'7 10-009A Adjusting Lever
188-0734 Control Plate
188-067A Adjusting Lever Spacer
188-07TA Deflector Valve Stop Angle
188-066A Deflector Stop Assembly
826-10516 5/16"-18 Hex Hd. Nut
2) 834-30003 5/16"-18 x 1" Lg. Thumb Screw
826~00010 1/4"-20 Hex Hd. Nut
834-55601 5/16" x 1/2" Self Tapping Screw
/188-1923A4 TRANSITION FILLER
© S
=
18 INTEEE
15
=l
/o2, LZmm
| [ 1
” -
A Secrion =L L
o7 £ —

e

ED

P e ECK
{ ChHeOA

; By © Duote //3/8/

FERRELL - ROSS

=
MACH. NO.

WNeLpED ConNsTrucTionN TR as P CLIPPER IS CLEANER

e SAGINAW, MICH.

ANGLE TYPE * 48 |
DWN. BY _@ |scae —‘3{%?:/' IDATE///é/ﬁ/ I DWG. NO. OO" ’4252 C




